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QUESTION 1

A VDI deployment is planned for an environment that consists of VMAX3 and XtremIO. The data will have a high degree
of deduplication and will require QoS and VVOL support. How can the existing infrastructure be leverage while
minimizing increased storage capacity?

A. Use XtremlO for the new deployment

B. Use FAST.X with XtremlO for the new deployment

C. Add full capacity required for VMAX3

D. Add half the capacity required for the VMAX and use compression

Correct Answer: A

QUESTION 2

What is an accurate statement about D@RE on a VMAXS3 array?
A. FASTX external storage is not encrypted

B. System metadata is never encrypted

C. Existing data can be encrypted in place

D. Global Memory always encrypted

Correct Answer: C

QUESTION 3

A host is currently using ports 1d4 and 4d4 in a two-engine VMAX3 and additional LUNs are required for the current
host. Current total LUN count for ports 1d4 and 4d4 are 4096 each.

Which ports will follow best practices for increasing LUN count for the application?
A. 1d4 and 4d4
B. 1d4 and 4d5
C. 1d5 and 4d4
D. 1d5 and 4d5

Correct Answer: B

QUESTION 4
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Based on the exhibit, where is data considered to be in motion?

Replication
Network

A. SAN and replication network

B. Host, SAN, and arrays

C. Host and arrays

D. SAN, arrays, and replication network

Correct Answer: C

QUESTION 5

An administrator implemented SYMACLs on a VMAX3 using hardware-based Access IDs. The administrator is not able
to run SYMCLI commands against the volumes belonging to a host. The volumes were originally provisioned using the
host in which the host in which the administrator experienced issues.

What is a possible reason for this issue?

A. SYMAPI options file was manually modified with the wrong host ID

B. symacl —unique —passphrase was run using a different passphrase

C. Host is not in the eMgmt Access Group
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D. Host network interface card was replaced

Correct Answer: B
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